SCHOOL BASED ASSESSMENT 2022
MODEL PAPER
GRADE 6
MATHEMATICS PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]
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General Instructions for students : ey S5 “i L S

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example : 64+8=
a) 4 b) 6 ©8 d) 12
4) If more than one options are encircled in a question, no mark will be given.
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| Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour |

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5
marks.
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Question No.1: To represent the set of Whole numbers, we use the capital letter:
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(a) P (b) E
() O (d)y W
Question No.2 : If M ={1,2,3,4} and N = {4,3,2,1}, then:
Jn N=1{4,3,2,1} s M = {1,2,3,4}/1 2 # U»
@M = N byM #N
QM e N dN e M
Question No.3: Solve 5283 + 4914
5283+4914 ./ 3 A Ulr
(a) 10197 (b) 10917
(c) 11097 (d) 11907
Question No.4 : The Product of 84 and 35 is:
e S K3584 4 2 Uiy
(a) 119 (b) 2100

(c) 2940 (d) 4040



Question No.5:

(a) 1,2,3,7,8,14,28
(c) 1,24,7,14,28

Question No.6:

@1x2x3x4
@©1x2x2x6

Question No.7 :

(a) 5°
(c) 57

Question No.8:

(@1
() 17

Question No.9 :

(@) Prime Numbers
(c) Even Numbers

Question No.10:

(a) 2,4,8,9,10,12,16
(c) 4,6,8,10,11,14

Question No.11 :

The factors of 28 are:

o £28 55 £ Jiyv
(b) 1,2,5,7,8,28
(d) 1,2,4,7,20,28

The prime factors of 24 are:
A dF Iz M L2436 A Uiy
b)2x2x2x3
(d1x3x8

The Index notationof 5 X 5 X 5 X5 x5 x 5 X His:

e PWef 5 XB5XD5x5Xx5%X5X5740r

(b) 56
(d) 58
The HCF of 17 and 51 is:
e kK51 17 8 4 i
(b) 3
(d) 34

The numbers having more than two factors are called:
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Il ;/"‘ (b) Composite Numbers iy J/
Ml o (d) Odd Numbers 3 s O’w

The composite numbers less than 15 are:

b L]
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(b) 4,6,8,9,10,12,14,15
(d) 4,6,8,9,10,12,14

On the number line the next.integer greater than 2 is:
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4+t +P
6 -5 -4 3 -2 - 0 1 2 3 4 6 6

(a) -3 (b) -1
(1 (d) 3
Question No.12 : Solution of 128 + (—8) is:

<« S¥128 + (—8) 124 Uir
(a) —16 (b) —14
(c) +14 (d) +16
Question No.13: The numerical value of -64 is:

ce=d Gow §-64 :13 £ Uiy

(@) —65 (b) —64
(c) 64 (d) 65
Question No.14 : The ascending orderof 0, — 3, 2, 4, — lis:

(@) 4, 2, 0,

Question No.15:

(@) —30
()6

-1, -3
€ —1, —3,0,2 4

-‘4.,;76»“6/0, —3,2, 4, —1:a4/U»

00, —1,2, —3, 4
d)—3, —1,0,2, 4
(—18) + (—12) =
(—18) + (—12) = 215 # Ui»
(b) —6
(d) 30



Question No.16:

(@) 2.5
(c) 6.0

Question No.17 :

(@) 7:1
() 7:5

Question No.18 :

@zxz=1
Qx=9

Question No.19:

(a) 20%
(c) 40%

Question No.20 :

(a) 40%
(c) 60%

Question No.21 :

(a) 14y — 3z
(c) =3z + 14y

Question No.22:

(@) x
(c) 9x

Question No.23 :

(a) 24
(c) 26

Question No.24 :

(@) —4
(c) 2

Question No.25 :

@) 7z — Tz +2
() Tx2—Tx — 2

Question No.26 :

@x+17=25
()x+ 25 =17

Question No.27 :

@bx—y—2
Q5 —y>2

2.5+ (3.6 +2.4) =

(b) 4.0
(d) 7.5

2.5—|—(3.6+2.4)::

In a class of 35 girls and 25 boys,the ratio of girsl to boys is:
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(b) 1:7
(d) 5:7

The value of x in the given proportion 3 : z :: 2 : 6 is:

3 . ..
ig In percentage is:

-q.d({xdﬁi% cx2:66L 2

byx=4
(d)z =12

(b) 30%
(d) 60%

Wagqar bought a bag for Rs 400 and sold it for Rs 600. His profit percentage is:

-‘gw‘é 6’ (JLL; & &2 600 &t sl 147 J* & 400 u.C ..{! B

Solve 8y — (3z + 6y)

Solve [5z — {3z + (2= — z)}]

If a=2 and b=3 then the value of 4ab is:

(b) 50%
(d) 70%

(b) —14y + 3
(d) =3z + 2y

b — {3z + 2z — z)}| /S

(b) —x
(d) -9x

(b) 25
(d) 27

If a = 3, and 3a — b = 7, then value of b is:

e =ifbin3a—b="Tsa =3/

(b) —2
(d) 4

Solution of (4z% — 2z + 5) + (3% — 5z — 3) is:

-« S¥(42* — 22 + 5) + (32* — bz — 3)

(b) 722 4 Tz + 2

8y — (3z + 6y) y/ LS

o= § 4ab Fb=3 1 a=2.]

d) —Tx2 — 7z —2

“The difference of a number and 17 is 25". Correct equation of the given statement is:

e e hls e 14 wk L Loy 250, 6175 5.6 LI”

An algebraic equation is:

(b)z —17 =25
(dyx—25=17z

b)bx —y <2
(d)dbx —y =2

16 # Jis

:17/&!%

118 & Jis

119 A Uiy

20 A Jis

21 & iy

22 / Jlr’

23 / Jlr’

24 / Jlr’

25 / dlr’

26 A Jis

e b §A1 27 A Ui



Question No.28 : The perimeter of the given rectangle is:

e ol E T 28 £ Ui

4m 4m
im im
(a) Tm T~ (b) 12m 12
(c) 14m 14 ~ (d) 21m 21 =
Question No.29: In the figure, the length of one side of a square field is given. Its area is:
-c;-é'/(u"-cg-tfd:éytfé'uﬁiofdffvguﬁf 229 & Jisr
Sm
(a) 5 m? DAE, (b) 10 m? 10« ¢,
(c) 20 m? 204 &, (d) 25 m? 25X &,
Question No.30: Area of the given Parallelogram is:
< ny Koy $15 (3(6) 30 & dlr’
17em
>
>
(a) 104cm? 104 ~ C}’:J d/ (b) 204cm? 204 ~ 6"5/ d/
(c) 304cm? 304/”-.1' Cj:/ d'/ (d) 404cm? 404/}"3: (3':/ d‘/
Question No.31: The number of vertices in a cuboid is:
-« Qs S Usrls S U a8 L1 31 4 Uiy
(a) 6 (b) 8
(©) 10 (d) 12
Question No.32: The following pie graph is showing the daily (24 hours) routine of Ali. According to the pie graph how

much time did he sleep?
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(a) 6 hours 6&/ (b) 8 hours Sg
(c) 10 hours 102{ (d) 12 hours 12£



